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Q1) A) Fill in the Blanks (Any 5): [5]

a) ______ are obstacles that one may face when attempting to
effectively communicate with another person.

i) Communication Barriers

ii) Communication Methods

iii) Communication Remedies

b) Communication starts with________.

i) Encoding

ii) Sender

iii) Feedback

c) Details of enclosures mentioned______.

i) Beginning of the letter

ii) Below the signature

iii) Right-hand side of the letters

P.T.O.
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d) ______ is the correct statement about development of soft skills
of individuals.

i) Soft Skills cannot be developed

ii) Soft Skills are irrelevant in personal development

iii) Soft Skills can be developed through training, practice and
real-life experience.

e) comparing to resume _______ is more academic oriented.

i) Interview

ii) Curriculum Vitae

iii) Bio-data

f) A job application letter should be______.

i) Funny

ii) Full of Mistakes

iii) Clear and concise

B) Match the following: [5]

Group ‘A’  Group ‘B’

a) Body Language i) Information about a person’s personal and
professional background.

b) Postscript ii) Language

c) Soft skills iii) Problem solving

d) Semantic barriers iv) Message not included in the body of the letter

e) Bio-data v) Non - Verbal Communication
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Q2)  Writ Short Notes (Any 2) [10]

a) Principles of Communication

b) Qualities of Business Letter.

c) Importance of Soft Skills.

d) Elements of curriculm Vitae

Q3) a) Write meaning of the term ‘Communication’. Explain in detail various
Methods of Communication. [8]

b) What is ‘Business Letter’? Explain in detailed about ‘Layout of Business
Letter’. [7]

Q4) a) Explain in detail various elements of Soft Skills. [8]

b) Prepare a Job Application Letter to KML Ltd., Pune in response to an
advertisement in ‘The Times of India’ for the post of ‘Finance Manager’.

[7]





Q1) A) Fill in the blanks (Any five). [5]

i) The dividends which have been paid by the company to
shareholders, but not yet claimed is known as _____.

(Interim Dividend, Unclaimed Dividend, Proposed Dividend)

ii) _________ deals with Accounting for Amalgamations.

(AS-21,AS-5, AS-14)

iii) Intrinsic Value Method is also known as _______

(Break-up Value Method, Market Value Method, Fair Value Method)

iv) ________ is a Long Term Borrowings.

(Bills Payable, Bank overdraft, Debentures)

v) ________ is allocated on the basis of turnover

(Gross Profit, Salary, Interest to Vendor)

vi) According to AS-10 Property, Plants and Equipment are ________
items. (Tangible, Intangible, Non-current Investments)

vii) Valuation of shares means determination of the _____ of shares.

(Quoted value, Fair value, Average value)
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B) State whether the following statements are True or False (any five)
[5]

ii) Patents and Trademarks are Intangible Assets of a company.

ii) Valuation of shares is not required for converting preference shares
into equity shares.

iii) In Profit Prior to Incorporation, Capital Profit is available for the
payment of dividend.

iv) Accounting Standards are closely related to Generally Accepted
Accounting Principles.

v) It is the responsibility of both Holding Company and Subsidiary
Company to prepare Consolidated Financial Statement.

vi) Depreciation is the loss in the value of a fixed assets during the
accounting period.

vii) Liabilities on account of Bills Discounted is an example of Contingent
Liabilities.

C) Match the following. [5]

i) Partner's Salary a) Expected Rate of Return

ii) Employer’s Contribution to P.F. b) Directly attributable to Cost
of an Asset

iii) Cost of Site Preparation c) Pre-incorporation period

iv) Yield Method d) Post-incorporation period

v) Managing Directors e) Employee Benefit Expense

Remuneration

D) Write Short Notes (any three) : [15]

i) AS-5

ii) AS-10

iii) Need for Valuation of Shares

iv) Difference between Incorporation and Commencement of Company

v) Time ratio and Sales ratio
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Q2) Nexus Ltd. was registered with a nominal capital of ̀  10, 00,000 divided into
` 10,000 equity shares of ̀  100 each. Following balances have been extracted
from the books of accounts as on 31st March 2023. [20]

Particulars Amount Particulars Amount

(`) (`)

Plant and Machinery 30,000 Sales 4,10,000

Insurance 10,000 Purchase Return 5,000

Purchases 2,05,000 Sundry Income 5,000

Sales Return 10,000 Sundry Creditors 2,55,000

Bad Debts 2,000 P& L A/c as on 01.04.2022 3,00,000

Manufacturing Wages 70,000 Bills Payable 12,000

Salaries 20,000 5% Debentures 5,00,000

Printing and Stationery 19,000 Share Capital Called Up 10,00,000

Stock as on 01.04.2022 50,000 General Reserve 21,000

Rent, Rates & Taxes 6,000

Calls In Arrears 10,000

Travelling Expenses 20,000

Cash at Bank 12,000

Furniture & Fittings 12,000

Sundry Debtors 2,00,000

Advertisement 7,000

Goodwill 11,00,000

Land & Building 6,30,000

Bills Receivable 70,500

Debenture Interest 12,500

Investment 10,000

Preliminary Expenses 2,000

25,08,000 25,08,000
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The following further details are also made available :

1. Depreciation to be provided on Plant & Machinery and Furniture @10%.

2. Create Provision for Bad & Doubtful debts @5% on Debtors.

3. Interest on Debentures is outstanding for 6 months.

4. The Board of Directors have decided to transfer Rs. 1,50,000 to General
Reserve.

5. Stock as on 31/03/2023 is Rs. 1,00,000.

You are required to Prepare Statement of Profit and Loss and Balance
Sheet as per Schedule III of the Companies Act 2013, also prepare
necessary notes to accounts.

Q3) X Ltd., was incorporated on 1st July 2022, to take over the running business
of Mr. Y with effect from 1st April 2022. The following Profit & Loss Account
for the year ended 31st March 2023 was drawn up. [20]

Profit & Loss A/c

Particulars Amount Particulars Amount

To Commission 26,250 By Gross Profit 9,80,000

To Advertising 52,500

To Managing Directors 90,000

Remuneration

To Depreciation 28,000

To Salaries 1,80,000

To Insurance 6,000

To Preliminary Expenses 7,000

To Rent & Taxes 30,000

To Discount Allowed 3,500

To Bad Debts 12,500

To Net Profit 5,44,250

9,80,000 9,80,000
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The following details are available.
1. The average monthly turnover from July 2022 onwards was double than

that of the previous months.
2. Rent for the first three months was paid @ ` 2000 p.m. and thereafter at

a rate increased by ` 500 per month.
3. Out of the total Bad debts ` 3,500 purely related to sales effected after l

Sept. 2022
4. Advertisement expenses were directly proportionate to sales.
Ascertain the profits prior to and post incorporation period. Also show
necessary working notes.

Q4) a) Following is the Balance Sheet of Birla Cement Company as on
31st March 2023 [14]

Balance Sheet
Liabilities Amount Assets Amount

Issued & Paid up Capital Goodwill 54,600
(52,000 shares of ` 10 each) 5,20,000 Land & Building 3,51,000
General Reserve 2,62,600 Plant & Machinery 2,86,000
Profit & Loss A/c 1,40,400 Furniture & Fixtures 23,400
7% Debentures 1,30,000 Trade Debtors 3,57,500
Trade Creditors 1,17,000 Closing Stock 1,36,500
Bills payable 65,000 Cash in hand 26,000

12,35,000 12,35,000

Additional Information :

1. Assets were valued as follows :

    Particulars Amount
Land & Building 2,53,500
Plant & Machinery 1,75,500
Furniture & Fixtures 26,000
Goodwill  65,000
Closing Stock 1,36,500
Trade Debtors 3,57,000
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2. The net profit for the last three years was as follows

Year Amount
2020-2021 1,46,900
2021-2022 1,80,700
2022-2023 1,40,700

3. It is a general practice of the company to transfer 20% of profits to
General Reserve every year.

4. A Normal Rate of Return in respect of Equity Shares in similar type
of companies is ascertained at 20%

You are required to calculate the value of each equity share under :

A) Net Asset Method

B) Yield basis Method

C) Fair Value Method

b) On April 1, 2023, Amar Ltd. purchased land and building of ̀  15,00,000/
- for a factory site. Company demolished an old building on the property
and sold the old material for 50,000/- Company incurred additional cost
and realized salvaged proceeds during the April 2023 as follows;

Legal fees for making Agreement ` 50, 000/-

Title guarantee insurance ` 25,000/-

Cost for demolition of building ` 1,50,000/-

Compute the balance to be shown in the Land & Building A/c on
1st April, 2023 in the Balance sheet. [6]





Q1) A) Fill in the Blanks. (any 5) [5]
i) The term of macro Economics were first used by _______.

(Adam Smith, J.S. Mill, Ragnar Frish, J.L. Hansun)
ii) 'Every supply creates its own demand' this famous statement is

given by _______.
(J. B. Clark, J.B. Say, J. M. Keynes, J.S. Mil)

iii) National Income is _______ concept.
(Final, Stock, Flow, Intermediate)

iv) The Equation of saving function is ________.
(S = f(Yd), S = f(Id), S = f(cd), S = f(Sd))

v) The psychological law of consumption relates to ______.
(Marshall, Robertson, Adam smith, Keynes)

vi) Effective Demand means _________
(Total Demand = Total supply, money of Demand = money of
supply, saving = Investment, consumption = Income)

B) Match the following : [5]
Group-'A' Group-'B'

i) Wealth of Nation a) Induced
ii) Consumption function b) Adam Smith
iii) Macro c) National Efficiency of Capital
iv) Acceleration d) J. M. Clark
v) Investment e) C = f(Y)

f) Makros
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Q2) Explain the Nature and significance of Macro Economics. [15]

Q3) What is National Income? Explain the methods of measuring National Income.
[15]

Q4) Explain the J.B. Say's theory of Markets. [15]

Q5) What is the consumption function? Explain the determinants of consumption
function. [15]

Q6) Write a short notes on (Any 3) : [15]

a) Macro Economics Objectives

b) Two sector model circular flow

c) Gross Domestic product

d) Determinants of savings

e) Limitations of multiplier


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) g_J«bjr AW©emó `m eãXmMm gd© àW_ dmna .......... `m§Zr Ho$bm.

(A°S>_pñ_W, Oo.Eg. {_b, a°¾a {\«$e, Oo. Eb. h°ÝgZ)

ii) "àË òH$ nwadR>m Amnbr ñdV…Mr _mJUr {Z_m©U H$aVmo' ho à{gX²Y {dYmZ ..........
`m§Zr Ho$bo Amho.

(Oo. ~r. ŠbmH©$, Oo.~r. go, Oo.E_ Ho$Ýg, Oo.Eg. _rb)

iii) amï´>r` CËnÞ hr ....... g§H$ënZm Amho.

(A§{V_, gmT>m, àdmh, _Ü`ñW)

iv) ~MV \$bZmMo g_rH$aU ........... Amho.

(S = f(Yd), S = f(Id), S = f(cd), S = f(Sd))

v) Cn^moJmMm _mZgemór` {Z`_ ........ er g§~§YrV Amho.

(_me©b, am°~Q>©gZ, A°S>_pñ_W, Ho$Ýg)

vi) à^mdr _mJUr åhUOo ...... hmò .

(EHy$U _mJUr = EHy$U nwadR>m, n¡emMr _mJUr = n¡emMm nwadR>m, ~MV =
Jw§VdUyH$, Cn^moJ = CËnÞ)

3 P.T.O.
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~) OmoS>`m bmdm. [5]

JQ>-A JQ>-~

i) amï´>mMr g§nÎmr A) ào[aV

ii) Cn^moJ \$bZ ~) A°S>_pñ_W

iii) _°H«$mo H$) ^m§S>dbmMr gr_m§V H$m`© j_Vm

iv) àdoJ S>) Oo. E_. ŠbmH©$

v) Jw§VdUyH$ B) C = f(Y)

\$) _°H«$mog

àíZ àíZ àíZ àíZ àíZ 2) g_J«bjr AW©emómMo ñdén d _hËd ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) amï´>r` CËnÞ åhOUo H$m`? amï´>r` CËnÞ _mnZmÀ`m nX²YVr gm§Jm. [15]

àíZ àíZ àíZ àíZ àíZ 4) Oo.~r.go. `m§Mm ~mOma {df`H$ {gX²Ym§V ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) Cn^moJ \$bZ åhUOo H$m`? Cn^moJ \$bZmMo {ZYm©[aH$ KQ>H$ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]
A) g_J«bjr Am{W©H$ CÕrîQ>ço

~) {Û-joÌr` à{V_mZ - MH«$mH$ma àdmh

H$) EHy$U Xoem§VJ©V CËnmXZ

S>) ~MV \$bZmMo {ZYm©aH$

B) JwUH$mÀ`m _`m©Xm





Q1) a) Fill in the blank with the most appropriate alternative (any five) : [5]

i) Management is the process to coordinate and Organize an
organization’s operations to help them achieving their __________.

(Goals, Planning, Control, Motivation)

ii) _________ known as the “Father of scientific management”.

(Peter Drucker, F.W. Taylor, Rowan, Halsey)

iii) _______ is the process of filling vacancies within a business from
its existing workforce.

(Forecasting, Delegation, Internal recruiting, Management)

iv) Selection is the process of choosing the most _______ for the
vacant position in the organization.

(punctual candidate, qualified candidate, suitable candidate, logical
candidate)

v) _________ is the process by which a manager divides and assigns
work to his subordinates.

(planning, communication, delegation of authority, recruitment)

vi) Teamwork is the ________ of a group of individuals with a common
goal or purpose.

(planning, collaborative effort, communication, motivation)

vii) ________ can be categorized into internal and external channels.

(Recruitment sources, Delegation, Classification, Planning)

Total No. of Questions : 6]
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b) Match the following : [5]

  Column A   Column B

i) Planning a) Recruitment outside the Concern

ii) Decision Making b) Fundamental Management Function

iii) External Recruitment c) Forecasting Methods

iv) Strategic Planning d) Technique of Creating Alternatives

v) Qualitative Forecasting e) Long-Term Planning

Q2) What is ‘Management’? Explain the Levels of Management. [15]

Q3) What is ‘Planning’? Explain the steps of Planning. [15]

Q4) What is ‘Recruitment? Explain the sources of Recruitment. [15]

Q5) Explain the concept of Delegation of Authority. Explain the difficulties in
Delegation of Authority. [15]

Q6) Write a short note (any three) : [15]

a) Functions of Management.

b) Nature of Planning.

c) Principles of organising.

d) Group Dynamics.


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àíZ àíZ àíZ àíZ àíZ 1) A) gdm©V `mo½` n`m©̀ mMr {ZdS> H$ê$Z [aH$må`m OmJm ^am. [5]

i) ì`dñWmnZ hr g§ñWoÀ`m H$m`mªMo g_Ýd` Am{U g§KQ>Z H$aÊ`mMr EH$ à{H«$`m Amho
H$s, Á`m_wio Ë`m§Zm Ë`m§Mo ........... gmÜ` H$aÊ`mV _XV hmoVo.

(Ü ò̀ , {Z`moOZ, {Z §̀ÌU, àoaUm)

ii) .......... `m§Zm ""AmYw{ZH$ ì`dñWmnZmMo OZH$'' åhUyZ AmoiIbo OmVo.

(nrQ>a S´>H$a, E\$.S>ãë ỳ. Q>oba, amodZ, h°ëgo)

iii) ............... hr ì`dgm`mVrb [aŠV nXo ì`dgm`mVrb H$m ©̀aV H$_©Mmar dJm©VyZ
^aÊ`mMr à{H«$`m Amho.

(nydm©Zw_mZ, A{YH$ma àXmZ, A§VJ©V ^aVr, ì`dñWmnZ)

iv) {ZdS> hr g§ñWoVrb [aŠV nXm§gmR>r gdm©V OmñV ............. {ZdS>Ê`mMr à{H«$`m
Amho.

(dŠVera C_oXdma, nmÌ C_oXdma, gdm}Îm_ C_oXdma, Vm{H©$H$ C_oXdma)

v) ............ hr à{H«$`m Amho H$s, Á`mÛmao ì`dñWmnH$ Amnë`m H${Zð>m§_Ü ò H$m`m©Mr
{d^mJUr Am{U Zo_UyH$ H$aVmo.

({Z`moOZ, g§àofU, A{YH$ma àXmZ, ^aVr)

vi) g_yh H$m ©̀ hm EH$ g_mZ Ü ò̀  qH$dm C{Ôï> Agboë`m ì`ŠVtÀ`m g_yhmMm ..............
Amho

({Z`moOZ, EH${ÌV à`ËZ, g§dmX, A{^àoaUm)

vii) ........... ho A§VJ©V Am{U ~mø òmoVm§_Ü ò dJuH¥$V Ho$bo OmD$ eH$Vo.

(^aVr òmoV, A{YH$ma àXmZ, dJuH$aU, {Z`moOZ)

3 P.T.O.
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~) Imbrb OmoS>çm Owidm. [5]

     JQ "A' >         JQ> "~'

i) {Z`moOZ A) g§ñWo~mhoarb H$_©Mmè`m§Mr ^aVr

ii) {ZU©̀  à{H«$`m ~) _yb ŷV ì`dñWmnZ H$m ©̀

iii) ~m÷ ^aVr H$) nydm©Zw_mZ nÕVr

iv) ì ẁhaMZmË_H$ {Z`moOZ S>) n`m©̀  {Z_m©U H$aÊ`mMo V§Ì

v) JwUmË_H$ nydm©Zw_mZ B©) XrK©H$mbrZ {Z`moOZ

àíZ àíZ àíZ àíZ àíZ 2) "ì`dñWmnZ' åhUOo H$m`? ì`dñWmnZmMo ñVa / nmVù`m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) "{Z`moOZ' åhUOo H$m`? {Z`moOZmÀ`m nm`è`m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) "H$_©Mmar ^aVr' åhUOo H$m`? H$_©Mmar ^aVrMo òmoV ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) A{YH$ma àXmZ hr g§H$ënZm ñnï> H$am. A{YH$ma àXmZm_Ü ò òUmè`m AS>MUr ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) ì`dñWmnZmMr H$m`}

~) {Z`moOZmMo ñdê$n

H$) g§KQ>ZoMr VÎdo

S>) JQ> / g_yh J{VerbVm (J«wn S>m`Z°{_Šg)


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Q1) A) Fill in the blanks.(Attempt any 5) [5]

i) _____ Minimum Number are required for incorporation of private
company.(2,5,7)

ii) ______ is the last stage of formation of public compay.
(Registration, Raising of capital, Commencement of Business
Certificate)

iii) The capital mentioned in the memorandum of Association is called
_____ capital. (Authorised, paid-up, called up)

iv) _____ is the proof of the ownership rights of the shareholders.
(Debentures, share certificate, Promissory Note)

v) A company can change its name at its own discretion by passing
_____.

(ordinary resolution, special resolution, Boards resolution)

vi) A public company may issue _____ shares. (equity, preference,
equity and preferences)

P.T.O.
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B) Match the Following: [5]

Group - ‘A’ Group - ‘B’

i) Calls on shares a) Clause - 8

ii) Charitable Company b) Registered Company

iii) Separate legal Entity c) Minimum 2 directors

iv) Private Company d) Secondary document

v) Articles of Association e) Authority of the Board of directors

Q2) Define Company. Explain various types of companies. [15]

Q3) What is promoter? Explain in details various steps of Formation of company.
[15]

Q4) What is memorondum of Association? Explain various clauses of memorandum
of Association. [15]

Q5) What is share? Explain various types of shares. [15]

Q6) Write Short Notes (Any three) [15]

a) Advantages of private company.

b) Articles of Association.

c) Doctrine of Altra-virus

d) Buy back of shares.

e) Bonus shares.

… … …
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(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 A{Zdm¶© AmhoV.
2) àíZ H«$. 2,3,4 Am{U 5 ¶mn¡H$s H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) ImOJr H§$nZrÀ¶m ñWmnZogmR>r H$‘rV H$‘r ............ g^mgXm§Mr Amdí¶H$Vm AgVo.

(2,5,7)
ii) ............. hr gmd©O{ZH$ H§$nZrÀ¶m ñWmnZoVrb eodQ>Mr AdñWm Amho.

(Zm|XUr, ^m§S>db C^maUr, ì¶dgm¶ àma§̂  XmIU)
iii) KQ>ZmnÌH$m‘Ü¶o Z‘yX Ho$boë¶m ^m§S>dbmbm .......... ^m§S>db åhUVmV.

(A{YH¥$V, dgyb, ‘mJUr Ho$bobo)
iv) ........... ho ^mJYmaH$m§À¶m ‘mbH$sh¸$mMm nwamdm AgVmo.

(H$O©amoIm, ^mJà‘mUnÌ, dMZ{MÇ>r)
v) H§$nZr {VÀ¶m ZmdmV ~Xb ................. R>amdmÀ¶m ‘§OwarZo H$ê$ eH$Vo.

(gd©gm‘mÝ¶, {dfoe, ‘§S>imMo)
vi) gmd©O{ZH$ H§$nZr ............. ^mJ {dH«$sg H$mTy> eH$Vo.

(gm‘mÝ¶, AJ«h³H$, gm‘mÝ¶ Am{U AJ«h³H$)

~) OmoS>¶m Owidm. [5]
JQ -‘A’ JQ> - ‘~’

i) ^mJm§d[ab háo ‘mJUr A) H$b‘-8
ii) Y‘©Xm¶ H§$nZr ~) Zm|XUrH¥$V H§$nZr

iii) ñdV§Ì H$m¶Xoera ApñVËd H$) H${‘V H$‘r 2 g§MmbH$

iv) ImOJr H§$nZr S>)  Xþæ¶‘ XñVEodO

v) {Z¶‘mdbr B) g§MmbH$ ‘§S>imMm A{YH$ma
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à.à.à.à.à.2) H§$nZrMr ì¶m»¶m Úm. H§$nZrMo {d{dY àH$ma ñnï> H$am. [15]

à.à.à.à.à.3) àdV©H$ åhUOo H$m¶? H§$nZr ñWmnZoVrb {d{dY nm¶è¶m g{dñVa ñnï> H$am. [15]

à.à.à.à.à.4) KQ>ZmnÌH$ åhUOo H$m¶? KQ>ZmnÌH$mVrb {d{dY H$b‘o ñnï> H$am. [15]

à.à.à.à.à.5) ^mJ åhUOo H$m¶? ^mJm§Mo {d{dY àH$ma ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm (H$moUË¶mhr VrZ) [15]

A) ImOJr H§$nZrMo ’$m¶Xo

~) {Z¶‘mdbr

H$) A{YH$ma~mø {gÕm§V

S>) ^mJm§Mr nwZI©aoXr

B) ~moZg ^mJ

… … …



Total No. of Questions : 4]

[6224]-306
S.Y.B.Com.

236 A - BUSINESS ADMINISTRATION
 (2019 Pattern) (Semester - III)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

PB1301 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blanks by selecting suitable choice. [5]
i) The department of business that deals with the distribution and

transportation of goods and services is ______.
a) Distribution Department
b) Finance Department
c) Human Resource Department
d) Research and Development Department

ii) Business secrecy is maximum in ______ organization.
a) Sole proprietorship b) Partnership Firm
c) Co-operative Society d) Company

iii) In the Hindu Undivided Family system of business, the members of
the organization are called____.
a) Secretary b) Chairman
c) Karta d) Coparceners

iv) A Limited Liability Partnership is formed under the ____ Act.
a) Limited Liability partnership Act, 2008
b) Indian Partnership Act, 1932
c) Indian Company Act, 1956
d) Maharashtra Co-operative Act, 1960

v) The factors of business control are collectively called _____.
a) Internal Factors b) External Factors
c) Controlled Factors d) Uncontrolled Factors

P.T.O.
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B) Match the following. [5]

Group A Group B

i) Business Environment a) Making a Profit

ii) Undivided Hindu Family System b) External Factors

iii) Entrepreneurship c) Karta

iv) Commerce d) Regulated by the
government

v) Organized Sector e) Exchange of goods and
service

Q2) Write Short Notes (Any two) [10]

a) Financial objectives of the Business

b) A Sole Trade Proprietorship

c) Impact of New Policies on Business Administration

d) Business Development

Q3) a) Define the term Business Administration. State its Characteristics. [8]

b) Explain the difference between Partnership Firm and Joint Stock
Company. [7]

Q4) a) Explain the factors that determine the Business Internal Environment.[8]

b) Explain the steps of Business Promotion. [7]


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Total No. of Questions : 4]

[6224]-306
S.Y.B.Com.

236 A - BUSINESS ADMINISTRATION
 (2019 Pattern) (Semester - III)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PB1301

à.à.à.à.à.1) A) ¶mo½¶ n¶m©¶mMr {ZdS> H$ê$Z [aH$må¶m OmJm ^am. [5]

i) dñVy d godm ¶m§Mo {dVaU Am{U dhZ H$aUmam ì¶dgm¶mMm {d^mJ åhUOo .............hmo¶.

A) {dVaU {d^mJ ~) {dÎm {d^mJ

H$) ‘mZdr g§gmYZ {d^mJ S>) g§emoYZ d {dH$mg {d^mJ

ii) ............... g§ñWo ‘Ü¶o ì¶mdgm{¶H$ JwáVm OmñVrV OmñV AgVo.

A) EH$b ì¶mnmar g§ñWm ~) ^mJrXmar g§ñWm

H$) ghH$mar g§ñWm S>) H§$nZr

iii) A{d^º$ qhXÿ Hw$Q>§w~ nÕVr ì¶dgm¶mV g§ñWoVrb gXñ¶m§Zm .............. Ago åhUVmV.

A) g{Md ~) AÜ¶j

H$) H$Vm© S>) gXñ¶

iv) ‘¶m©{XV Xm{¶Ëd ^mJrXmarMr ñWmnZm ................. H$m¶X²¶mÝd¶o H$aÊ¶mV ¶oVo.

A) ‘¶m©{XV Xm{¶Ëd ^mJrXmar H$m¶Xm, 2008

~) ^maVr¶ ^mJrXmar H$m¶Xm, 1932

H$) ^maVr¶ H§$nZr H$m¶Xm, 1956

S>) ‘hmamï´> ghH$mar H$m¶Xm, 1960

v) ì¶dgm¶mÀ¶m {Z¶§ÌUmVrb KQ>H$m§Zm EH${ÌV nUo .................. Ago åhUVmV.

A) A§VJ©V KQ>H$ ~) ~mø KQ>H$

H$) {Z¶§{ÌV KQ>H$ S>) A{Z¶§{ÌV KQ>H$
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~) OmoS²>¶m Owidm. [5]

JQ> "A' JQ> "~'

i) ì¶mdgm{¶H$ n¶m©daU A) Z’$m {‘idUo

ii) A{d^º$ qhXÿ Hw$Qw>§~ nÕVr ~) ~mø KQ>H$

iii) CX²¶moOH$Vm H$) H$Vm©

iv) dm{UÁ¶ S>) gaH$maÛmao {Z¶‘Z

v) g§K{Q>V joÌ B) dñVy Am{U godm§Mr XodmUKodmU

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ì¶dgm¶mMr Am{W©H$ C{X²Xï>o

~) EH$b ì¶mnmar g§ñWm

H$) ì¶dgm¶ àemgZmda ZdrZ YmoaUm§Mm à^md

S>) ì¶dgm¶ {dH$mg

à.à.à.à.à.3) A) ì¶dgm¶ àemgZmMr ì¶m»¶m X²¶m. Ë¶mMr d¡{eï²>¶o gm§Jm. [8]

~) ^mJrXmar g§ñWm Am{U g§¶wº$ ^m§S>dbr g§ñWm ¶mVrb ’$aH$ ñnï> H$am. [7]

à.à.à.à.à.4) A) ì¶mdgm{¶H$ A§VJ©V n¶m©daU {ZYm©[aV H$aUmao KQ>H$ ñnï> H$am. [8]

~) àdV©ZmÀ¶m nm¶è¶m ñnï> H$am. [7]


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[6224]-307
S.Y. B.Com.

 BANKING AND FINANCE - I
236(b) : Indian Banking System
 (2019 Pattern) (Semester - III)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the rigth indicates full marks.

PB1302 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blank with the most appropriate alternative (any Five) [5]

i) On July 1, 1955 _______ was nationalized and renamed as State
Bank of India.
a) Punjab National Bank b) Imperial Bank
c) Dena Bank d) Vijaya Bank

ii) ______ is the biggest public sector bank in India.
a) Punjab National Bank b) IDBI Bank
c) State Bank of India d) Corporation Bank

iii) ______ was the first private bank after liberalisation.
a) Global Dress Bank b) HDFC
c) Kotak Mahindra Bank d) Bandham Bank

iv) All banks listed in the second schedule are known as________.
a) Schedule Banks b) National Bank
c) Private Bank d) Non schedule Bank

v) The ratio of cash held by a bank to total assets is called ______.
a) Statutory Bank Ratio b) Statutory Liquidity Ratio
c) Central Bank Reserves d) Central Liquidity Reserves

vi) State Bank of Saurashtra merged with _______ bank.
a) Bhartiya Mahila Bank b) Bank of India
c) Yes Bank d) State Bank of India

P.T.O.
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B) Match the Following: [5]
Column A Column B

i) Regional Rural Bank a) Bank with largest network of
ATM

ii) Bank repo rate b) 2015

iii) New private sector bank c) Provides loan to weaker
section in rural ares

iv) Bandhan Bank d) Repurchase rate

v) State Bank of India e) 1991

Q2) Write a short note (any two) [10]
a) Scheduled Banks.

b) Cash reserve ratio

c) Foreign bank

d) Lead bank scheme

Q3) a) Explain the structure of Indian Banking system. [8]
b) Explain the functions of Reserve Bank of India. [7]

Q4) a) Explain in detail the role of private banks in Indian economic
development. [8]

b) What is nationalization? Write detailed information for and against
nationalization. [7]


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Total No. of Questions : 4]

[6224]-307
S.Y. B.Com.

 BANKING AND FINANCE - I
236(b) : Indian Banking System
 (2019 Pattern) (Semester - III)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© Amho.
2) COdrH$S>rb àíZm§Mo A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PB1302

à.à.à.à.à.1) A) ¶mo½¶ n¶m©¶ {ZdSy>Z [aº$ OmJm ^am. (H$moUË¶mhr nmM) [5]

i) Owb¡ 1955 amoOr ............ amï´>r¶rH$aU H$aÊ¶mV ¶oD$Z {VMo ñQ>oQ> ~±H$ Am°’$ B§{S>¶m Ago
Zm‘H$aU H$aÊ¶mV Ambo.
A) n§Om~ Z°eZb ~±H$ ~) Bpån[a¶b ~±H$
H$) XoZm ~±H$ S>) {dO¶m ~±H$

ii) ............ hr ^maVmVrb gmd©O{ZH$ joÌmVrb gdm©V ‘moR>r ~±H$ Amho.
A) n§Om~ Z°eZb ~±H$ ~) Am¶ S>r ~r Am¶ ~±H$
H$) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m S>) H$m°nmoaoeZ ~±H$

iii) ............. hr CXmarH$aUmZ§VaMr n{hbr ImOJr ~±H$ hmoVr.
A) ½bmo~b S´>og ~±H$ ~) EMS>rE’$gr
H$) H$moQ>H$ ‘qhÐ ~±H$ S>) ~§YZ ~±H$

iv) Xþgè¶m eoS>çyb‘Ü¶o gyMr~Õ gd© ~±H$m ............. åhUyZ AmoiIë¶m OmVmV.
A) eoS>çwb ~±H$ ~) Z°eZb ~±H$
H$) ImOJr ~±H$ S>) eoS>çyb Zgbobr ~±H$

v) ~±Ho$H$S>o Agboë¶m amoI a¸$‘ Am{U EHy$U ‘mb‘Îmm JwUmoÎmambm ............. Ago åhUVmV.
A) d¡Ym{ZH$ ~±H$ à‘mU ~) d¡Ym{ZH$ VabVm à‘mU
H$) H|$Ðr¶ ~±H$ amIrd S>) H|$Ðr¶ Ðì¶ gmR>m

vi) ñQ>oQ> ~±H$ Am°’$ gm¡amï´>Mo ............ ~±Ho$V {dbrZrH$aU Pmbo.
A) ^maVr¶ ‘{hbm ~±H$ ~) ~±H$ Am°’$ B§{S>¶m
H$) ¶og ~±H$ S>) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m



4[6224]-307

~) OmoS>çm bmdm. [5]

A JQ > ~ JQ>

i) àmXo{eH$ J«m‘rU ~±H$ A) EQ>rE‘Mo gdm©V OmñV Omio AgUmar ~±H$

ii) ~±H$ aonmo aoQ> ~) 2015

iii) ZdrZ ImOJr joÌmVrb ~±H$ H$) J«m‘rU ̂ mJmVrb Xþ~©b KQ>H$m§Zm H$O© XoUo

iv) ~§YZ ~±H$ S>) nwZI© aoXr Xa

v) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m B) 1991

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) AZwgy{MV ~±H$m

~) amoI amIrd {ZYr à‘mU

H$) {dXoer ~±H$

S>) AJ«Ur ~±H$ ¶moOZm

à.à.à.à.à.3) A) ^maVr¶ ~±H$ àUmbrMr aMZm g{dñVa ñnï> H$am. [8]

~) ^maVr¶ [aPìh© ~±Ho$Mo H$m¶} ñnï> H$am. [7]

à.à.à.à.à.4) A) ^maVr¶ Am{W©H$ {dH$mgmV ImOJr ~±H$m§Mr ŷ{‘H$m g{dñVa ñnï> H$am. [8]

~) amï´>r¶H$aU åhUOo H$m¶? amï´>r¶H$aUÀ¶m ~mOyZo d {déÕ ~mOyZo g{dñVa ‘m{hVr {bhm. [7]





Total No. of Questions : 4]

[6224]-308
S.Y. B.Com.

 236(C) : BUSINESS LAW AND PRACTICES - I
 (2019 Pattern) (Semester - III)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figureo to the right indicate full marks.

PB1303 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blank with the most appropriate alternative (any Five) [5]
i) The voluntary scheme of AGMARK certification is for ______

food product.
a) Blended Edible Vegetable Oils
b) Fat spread
c) Ghee having less RM value
d) For agricultural commodities for domestic trade

ii) ______ year was General Insurance Corporation of India
incorporated as a company.
a) 1988 b) 1972
c) 1965 d) 1981

iii) “Jindagi ke sath bhi, Jindagi ke bad bhi” is the punch line of the
advertisement of which of the following organization ______.
a) New India Assurance
b) General Insurance Corporation
c) ICICI
d) Life Insurance Corporation of India

iv) The Information Technology Act became effect form ________.
a) Junuary 2000 b) March 1999
c) October 2000 d) April 1999

v) ______ is the minimum number of employees required to register
Under shop & establishment act
a) 10 b) 20
c) 30 d) 40

vi) AGMARK stands for __________.
a) Agricultural Produce
b) Agricultural Mark
c) Agricultural Certificate
d) Agricultural Managing Act

P.T.O.
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B) Match the Following: [5]

Column - A Column - B

i) LIC a) Single ownership

ii) APMC b) Huge capital

iii) Departmental store c) Life insurance Corporation

iv) Claim d) Agriculture Produce

Marketing Committee

v) Sole trading concern e) Demand made by insured to
insurer for loss occured due
to mishap

Q2) Write a short note (any two) [10]

a) Agricultural produce board

b) Basic principles of General Insurance

c) Digital signature

d) Opening and closing hours of shops

Q3) a) Define direct marketing? Explain the advantages of direct marketing. [8]

b) Explain the Various types of general insurances. [7]

Q4) a) Explain the Evaluation of  IT Act, 2000. [8]

b) Explain the registration procedure of establishment under shop act, 1947.
[7]


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Total No. of Questions : 4]

[6224]-308
S.Y. B.Com.

 236(C) : BUSINESS LAW AND PRACTICES - I
 (2019 Pattern) (Semester - III)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PB1303

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) A°J‘mH©$ ho à‘m{UH$aU ............... ImÚ CËnmXZmgmR>r dmnabo OmVo.

A) {‘{lV ImÚ dZñnVr Vob
~) Ma~r dmT>Uo
H$) VwnmMo AmaE‘ ‘yë¶ H$‘r Amho
S>) Xoem§VJ©V ì¶mnma Am{U H¥$fr ‘mmbgmR>r

ii) ^maVr¶ gmYmaU {d‘m ‘hm‘§S>i ............... ‘Ü¶o Am‘bmV Ambo?
A) 1988 ~) 1972
H$) 1965 S>) 1981

iii) "qOXJr Ho$ gmW ^r qOXJr Ho$ ~mX ^r' hr Om{hamVrMr ‘w»¶ bmB©Z ................
H§$nZrMr Amho.
A) Ý¶y B§{S>¶m A°í¶waÝg ~) OZab BÝewaÝg H$mnm}aoeZ
H$) Am¶grAm¶grAm¶ S>) ^maVr¶ Am¶w{d©‘m ‘hm‘§S>i

iv) ‘m{hVr V§ÌkmZ H$m¶Xm ............ ¶mdfu A‘bmV Ambm.
A) OmZodmar, 2000 ~) ‘mM©, 1999
H$) Am°³Q>mo~a, 2000 S>) E{àb, 1999

v) XþH$mZo Am{U AmñWmnZm H$m¶X¶m§J©V AmñWmnZm Zm|XUrgmR>r ........... H$‘©Mmè¶mMr g§ñWm
Agmdr.
A) 10 ~) 20
H$) 30 S>) 40

vi) A°J‘mH©$Mo {dñVm[aV ê$n .................
A) H¥$fr CËnmXZ ~) H¥$fr {MÝh
H$) H¥$fr à‘mUnÌ S>) H¥$fr ì¶dñWmnZ H$m¶Xm
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~) OmoS>çm bmdm. [5]
A JQ > ~ JQ>

i) Eb Am¶ gr A) EH$b ‘mbH$s

ii) E nr E‘ gr ~) àM§S> ^m§S>db

iii) {d^mJr¶ XþH$mZo H$) OrdZ {d‘m {ZJ‘

iv) Xmdm S>) H¥$fr CËnÞ ~mOma g{‘{V

v) EH$b ì¶mnmar g§ñWm B) AnKmVm‘wio Pmboë¶m ZwH$gmZmgmR>r
{d‘mYmaH$mZo Ho$bobr ‘mJUr

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr XmoZ) [10]

A) H¥$fr CËnÞ ‘§S>i

~) gm‘mÝ¶ {då¶mMr ‘wb^yV VÎdo

H$) {S>{OQ>b ñdmjar

S>) XþH$mZo/AmñWmnZm CKS>Ê¶mMo Am{U ~§X H$aÊ¶mMo Vmg

à.à.à.à.à.3) A) "àË¶j {dnUZ' ì¶m»¶m {bhm. àË¶j {dnUZmMo ’$m¶Xo gm§Jm. [8]

~) gm‘mÝ¶ {då¶mMo {d{dY àH$ma ñnï> H$am. [7]

à.à.à.à.à.4) A) ‘m{hVr V§ÌkmZ ’$m¶Xm (IT Act, 2000) Mr CËH«$m§Vr ñnï> H$am. [8]

~) XþH$mZo Am{U AmñWmnZm H$m¶Xçm§VJ©V AmñWmnZoMr Zm|XUr à{H«$¶m ñnï> H$am. [7]


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[6224]-309
S.Y. B.Com.

 236(D) : CO-OPERATION & RURAL DEVELOPMENT - I
 (2019 Pattern) (Semester - III) (Special Paper - I)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PB1304 [Total No. of Pages : 4
SEAT No. :

Q1) A) Fill in the blanks (any 5) [5]
i) The members of a Co-operative society have _______.

a) Limited liability
b) Unlimited liability
c) Joint and several liability

ii) The apex funding agency in India for providing rural credit is _____.
a) RBI
b) SBI
c) NABARD

iii) ______ is a process of increasing Economic openness.
a) Development
b) Growth
c) Globalization

iv) Initiatives for implementing rural development include _______.
a) Improving public health & Infrastructure development in rural

areas
b) Setting up facilities for agricultural research
c) All of the above

v) The problems faced by agricultural markets in rural areas
are ________.
a) Malpractice in unregulated markets
b) Lack of storage facilities & adequate finance
c) All of the above

vi) ______ is  a approaches of rural development
a) Micro
b) Macro
c) Group and mass

P.T.O.
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B) Match the Following: [5]

A Group B Group

i) Rural Development a) First sugar factory

ii) Padmashree vikhe patil b) Eco-Socio change

iii) Vaikunthlal mehta c) Nana patekar & Makrand
Anaspure

iv) Panni foundation d) Satyajit Bhatkal

v) Naam foundation e) Leader of Indian Co-operative
movement

Q2) Write a short notes (any two) [10]

a) Important provisions of Panchayat Raj Act.

b) Bhagirath Gramvikas Pratishthan.

c) Objectives of rural development.

d) Merits of Globalization

Q3) a) Explain the structure of Panchayat Raj in India. [8]

b) State  the limitations of Panchayat Raj. [7]

Q4) a) State the Impact of Globalization on Rural development. [8]

b) Explain the Importance of people’s Participation. [7]


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Total No. of Questions : 4]

[6224]-309
S.Y. B.Com.

 236(D) : CO-OPERATION & RURAL DEVELOPMENT - I
 (2019 Pattern) (Semester - III) (Special Paper - I)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZ n{ÌH$m nhmdr.

PB1304

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) ghH$mar g§ñWoÀ¶m g^mgXm§Mo  ................ AgVo.

A) ‘¶m©{XV Xm{¶Ëd
~) A‘¶m©{XV Xm{¶Ëd
H$) g§¶wº$ Am{U ~hþXm{¶Ëd

ii) ^maVmV J«m‘rU ^mJmV J«m‘rU nVnwadR>m H$aUmar ................ hr {eIa g§ñWm Amho.
A) Ama ~r Am¶
~) Eg ~r Am¶
H$) Zm~mS>©

iii) ............ hr AW©ì¶dñWoVrb IwbonUm dmT>{dÊ¶mMr à{H«$¶m Amho.
A) {dH$mg
~) d¥Õr
H$) OmJ{V{H$H$aU

iv) J«m‘rU {dH$mgmÀ¶m A§‘b~OmdUrgmR>r ........... CnH«$‘m§Mm g‘mdoe hmoVmo.
A) gmd©O{ZH$ Amamo½¶ gwYmaUo d J«m‘rU ^mJmV nm¶m ŷV gw{dYmMm {dH$mg H$aUo
~) H¥$fr g§emoYZmgmR>r gw{dYm C^maUo
H$) darb gd©

v) ............... ¶m J«m‘rU ^mJmVrb H¥$fr {dnUZmg‘moa ¶oUmè¶m g‘ñ¶m Amho.
A) A{Z¶§{ÌV ~mOmanoR>oVrb J¡aì¶dhma
~) gmR>dUwH$ gw{dYm nwaoem {dÎmmMm A^md
H$) darb gd©

vi) ............. hm J«m‘rU {dH$mgmMm Ñ{ï>H$moZ Amho.
A) gyú‘
~) g‘J«
H$) g‘wh Am{U gmd©O{ZH$
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~) OmoS>çm bmdm. [5]

A JQ > ~ JQ>

i) J«m‘rU {dH$mg A) n{hbm gmIa H$maImZm

ii) nX²‘lr {dIo nmQ>rb ~) Am{W©H$ gm‘m{OH$ ~Xb

iii) d¡Hw§$R>bmb ‘ohVm H$) ZmZm nmQ>oH$a d ‘H$a§X AZmgnyao

iv) nmUr ’$mD§$S>oeZ S>) gË¶{OV ^Q>H$b

v) Zm‘ ’$mD§$S>oeZ B) ^maVr¶ ghH$mar MidirMo ZoVo

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) n§Mm¶V amO H$m¶X¶mVrb ‘hÎdmÀ¶m VaVwXr

~) ^JraW J«m‘{dH$mg à{Vð>mZ

H$) J«m‘rU {dH$mgmMr d¡{eï>ço

S>) OmJ{V{H$H$aUmMo JwU (’$m¶Xo)

à.à.à.à.à.3) A) ^maVmVrb n§Mm¶V amO ì¶dñWoMr aMZm ñnï> H$am. [8]

~) n§Mm¶V amOÀ¶m ‘¶m©Xm gm§Jm. [7]

à.à.à.à.à.4) A) OmJ{VH$sH$aUmMo J«m‘rU {dH$mgmdarb n[aUm‘ gm§Jm. [8]

~) bmoH$gh^mJmMo ‘hÎd ñnï> H$am. [7]


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PB1305 [Total No. of Pages : 3

SEAT No. :

Q1) A) Fill in the Blanks by choosing the proper alternative given in the bracket
(any five): [5]

a) The main function of cost accounting is ______reporting

(Internal, External, Government, Bank)

b) Cost unit of a Chemical Industry is______.

(Gallon, Dozen, K.G, Gross)

c) ABC technique of inventory control is a ______based system of
material control.

(Control, Value, Direction, Motivation)

d) In goods transport company, per tonne per kilometer is a _____.

(Cost, Single Cost Unit, Composite Cost Unit, Unit)

e) Counting house salary is part of _______.

(Factory overhead, Selling overhead, Distribution overhead,
Administration overhead)

f) Works Cost = Prime Cost + _______.

(Factory Overheads, Administration Overheads, Selling Overheads)

P.T.O.
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B) Match the following pairs: [5]
Group ‘A’ Group ‘B’

a) Cost Accounting i) Record of quantity

b) Cost Unit ii) Economic order Quantity

c) Bin card iii) Recording of Cost

d) EOQ iv) Excluded from cost sheet

e) Donation v) Unit of measurement

Q2)  Write Short notes (any two) [10]
a) Distinguish Between Financial and Cost Accounting

b) Types of Cost Unit

c) Classification of cost on the basis of Functions

d) Non Cost Items

Q3) a) The following information has been obtained from Amar ltd. Amaravathi
for the year ended 31st March 2023. [8]
Particulars Amount

Sales 11,00,000

Opening stock of Raw Material 2,40,000

Closing stock of Raw Material 1,60,000

Direct Wages 70,000

Purchases 2,80,000

Chargeable Expenses 30,000

Office Salary 56,000

Power and Fuel 24,000

Factory Lighting 16,000
Printing and Stationary 14,000

Advertising 28,000

Sales Promotion Expenses 12,000

You are required to prepare a Cost Sheet showing_

i) Cost of Material Consumed

ii) Prime Cost

iii) Works / Factory Cost

iv) Cost of Production

v) Total Cost

vi) Profit / Loss
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b) You are required to calculate Economic Order Quantity (EOQ) and No.
of orders to be placed in a year from the following information. [7]

- Annual Consumption 3200 units

- Cost of Material per unit Rs. 80

- Cost of Placing and Receiving one order Rs. 400

- Annual Carrying cost of Inventory: 10% of Inventory Value

Q4) a) The following information is available in respect of a Material. [8]

Reorder Quantity 400 units

Rate of Consumption per week:

- Normal 10 units

- Maximum 40 units

- Minimum 20 units

Delivery Period:

- Minimum 10 Weeks

- Normal 15 Weeks

- Maximum 20 Weeks

Calculate-

i) Reorder Level

ii) Maximum Level

iii) Minimum Level

iv) Average Stock Level

b) What is ‘Purchasing’? Explain in brief the documents involved in
purchasing of material. [7]


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SEAT No. :

Q1) A) Choose the correct alternative in each of the following (any five).
[5×1=5]

a) Which of the following is an example of attribute characteristics?
i) Height ii) Weight
iii) Speed iv) Blood group

b) The range in which Partial Correlation Coefficient lies is ______.
i) –1 to 1 ii) 0 to 1
iii) 0 to  iv) – to

c) In vital statistics, if N.R.R. Per Women is 0.8840 then population
_______.
i) Goes on increasing
ii) Is decreasing
iii) Is Constant
iv) Whether increasing or decreasing connot say

d) Life tables are prepared for _____.
i) Animals ii) Humans
iii) Both (i) and (ii) iv) None of the above

e) With the 3 attributes A, B and C the number of second order classes
is____.
i) 6 ii) 9
iii) 12 iv) 3

P.T.O.
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f) In trivariate study the correlation coefficient between any two variables
when third variable held constant is called as ______.

i) Total Correlation ii) Multiple Correlation

iii) Partial Correlation iv) No Correlation

B) State whether following statements are true or false ( any five). [5×1=5]

a) Given that  N=100, (A)=30, (B)=40, (AB)=35 we say that given
data are consistent.

b) The three regression planes are coinside if |R| = 0

c)  GFR is based on women of all ages.

d)  Normally a life tables is constructed for an age interval of five years.

e) If r12= r13=0 then R1.23=0

f) Give N= 8, (A)=(B)=(AB)=0, then coefficient of association for
two attributes is =0

Q2)  Attempt each of the following: [3×5=15]

a) Define independence and association of two attributes. Define Yule’s
Coefficient of association.

b) Examine whether the following data are consistent.
N=100, (A)=40, (B)=39, (AB)=38
 (C)=41, (AC)=35, and (BC) =37.

c) Out of 800 students 320 were married. Among 240 students who failed,
96 were married. Find the coefficient of association between the attributes
marriage and failure in examination comment on the result.

Q3) Attempt each of the following: [3×5=15]

a) If X1=Y1+Y2, X2=Y2+Y3, X3=Y3+Y1, where Y1, Y2, Y3 are mutually
uncorrelated variables with mean Zero and unit S.D. each. Find the value
of multiple correlation coefficient between X1 and (X2, X3) ie R1.23.

b) In a trivariate data, r12=0.6, r13=-0.4, r23=0.7 Are these values consistent?

c) Show that a muttiple correlation coefficient can not be negative.
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Q4) Attempt each of the following: [3×5=15]

a) Explain the methods of collecting vital statistics. Define mortality rates,
fertility rates.

b) Compute T.F.R. for the following data:

Age-group 15-20 20-25 25-30 30-35 35-40 40-45 45-50
No. of  Women 1000 1000 1000 1000 1000 1000 1000
No. of  births 15 137 116 86 62 19 10

c) From the following data compute G.R.R. and N.R.R.

Age-group 16-20 21-25 26-30 31-35 36-40 41-45 46-50
Fertility rate 40 73 60 37.6 23 8.4 1
Per1000 Women
Percent survival 85 80 70 65 60 50 45

rate

Q5) Attempt each of the following: [3×5=15]

a) Define life table, explain the functions of lx, dx Lx and their interpretation.

b) Fill in the blanks of the following life table which are shown with question
mark:

Age (x) lx dx qx Px Lx Tx
4 880 ? ? ? ? ?
5 648 - - - - 11124

c) Given the following table for lx, the number of rabbits living at a age X.

X 0 1 2 3 4 5 6
lx 100 90 80 75 60 30 0

X, Y, and Z are the three rabbits of age 1, 2 and 3 years respectively.
Find the probability that at least one of them will be alive for one Year
or more.
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Q6)  Write a short notes on the following.( any 3) [3×5=15]

a) Define types of classes, order of a class, dot operator to find relation
between class. Frequency (Upto order three).

b) Define residuals, properties of residuals.

c) Explain direct method and indirect method of obtaining STDR.

d) Explain the functions of Px, qx, and ex in life table and their interpretation.

e) Define multiple and partial correlation. State the relation between multiple
correlation coefficient in terms of partial and total correlation coefficients.


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Q1) A) Fill in the blanks  (Any 5) [5]
i) ________ refers to building wealth through a variety of methods

using financial products.
a) wealth creation
b) Entrepreneurship
c) Health creation

ii) _______ entrepreneurs establishes an enterprise with the aim of
solving social problem or effecting social change.
a) Social
b) Motivated
c) Artistic

iii) Mr. Vijay Phalnikar is founder of __________
a) Tata
b) Aaple Ghar
c) DeAsra Foundation

iv) Dr. Anand Deshpande is the CEO of _________
a) Tata
b) Aaple Ghar
c) DeAsra Foundation

v) _______ is the art of measuring and reporting  the social and moral
performance of an organization.
a) Social Audit
b) Financial Audit
c) Environmental Audit

P.T.O.
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vi) _________ is the structure of rules, practices and processes used
to direct and manage company.
a) Social Audit
b) Business Ethics
c) Corporate Governance

B) Match the Following: [5]
 Group ‘A’  Group ‘B’

i) Snapdeal a) Responsibility towards
Society

ii) Problem of Unemployment b) Principles of Innovation

iii) Business Ethics c) Moral Values

iv) Peter Drucker d) Seasonal Agriculture

v) Social Responsibility e) Internet Entrepreneur

Q2) Write a short notes (Any 2) [10]
a) Enterprise V/s Entrepreneurship

b) Motivated Entrepreneurs

c) Creativity Process

d) Leadership by Example

Q3) a) What do you mean by ‘Unemployment’? Explain in detail various
problem of unemployment. [8]

b) What is ‘Social Entrepreneur’? Explain various Characteristics and goals
of Social Entrepreneur. [7]

Q4) a) What is ‘Innovation’? Explain in detail various Principles of Innovation
given by Peter Drucker. [8]

b) Describe social responsibilities of business towards their employees and
government. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) .............. åhUOo Am{W©H$ CËnmXZo dmnê$Z {d{dY nÕVtÛmao g§nÎmr {Z‘m©U H$aUo hmo¶.
A) g§nÎmr {Z{‘©Vr
~) CÚmoOH$Vm
H$) Amamo½¶ {Z{‘©Vr

ii) .............. ho CÚmoOH$ gm‘m{OH$ g‘ñ¶m gmoS>dÊ¶mÀ¶m qH$dm gm‘m{OH$ ~Xbmda n[aUm‘
H$aÊ¶mÀ¶m CÔoemZo E§Q>aàmBPMr ñWmnZm H$aVmV.
A) gm‘m{OH$
~) ào[aV
H$) H$bmË‘H$

iii) lr. {dO¶ ’$iUrH$a ho ............ Mo g§ñWmnH$ AmhoV.
A) Q>mQ>m
~) Amnbo Ka
H$) XoAmgam ’$mC§S>oeZ

iv) S>m°. AmZ§X Xoenm§S>o ho .............. Mo ‘w»¶ H$m¶©H$mar A{YH$mar (CEO) AmhoV.
A) Q>mQ>m
~) Amnbo Ka
H$) XoAmgam ’$mC§S>oeZ

v) .............. åhUOo EImÚm g§ñWoMm gm‘m{OH$ Am{U Z¡{VH$ H$m‘{JarMo ‘moO‘mn H$ê$Z
Ahdmb XoUo hmo¶.
A) gm‘m{OH$ A§Ho$jU
~) Am{W©H$ A§Ho$jU
H$) n¶m©daU{df¶H$ A§Ho$jU
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vi) .............. åhUOo H§$nZrMo ì¶dñWmnZ H$aÊ¶mgmR>r dmnabo OmUmè¶m {Z¶‘, nÕVr
Am{U à{H«$¶m§Mr aMZm hmo¶.
A) gm‘m{OH$ A§Ho$jU
~) ì¶dgm¶ Z¡{VH$Vm
H$) H$m°nm}aoQ> àemgZ

~) OmoS²>¶m Owidm. [5]

JQ> "A' JQ> "~'

i) ñZ°nS>rb A) g‘mOmàVrMr O~m~Xmar

ii) ~oamoOJmarMr g‘ñ¶m ~) Zd{Z{‘©VrMr VËdo

iii) ì¶mdgm{¶H$ Z¡{VH$Vm H$) Z¡{VH$ ‘yë¶o

iv) nrQ>a S´>H$a S>) h§Jm‘r eoVr

v) gm‘m{OH$ O~m~Xmar B) B§Q>aZoQ> CÚmoOH$

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) CnH«$‘ d CÚmoOH$Vm ¶m‘Yrb ’$aH$

~) ào[aV CÚmoOH$

H$) gO©ZerbVoMr à{H«$¶m

S>) CXmhaUmÛmao ZoV¥Ëd

à.à.à.à.à.3) A) "~oamoOJmar' åhUOo H$m¶? ~oamoOJmarÀ¶m {d{dY g‘ñ¶m§Mo Vnerbdma dU©Z H$am. [8]

~) "gm‘m{OH$ CÚmoOH$' åhUOo H$m¶? gm‘m{OH$ CÚmoOH$mMr {d{dY d¡{eï²>¶o Am{U Ü¶o¶o ñnï>
H$am. [7]

à.à.à.à.à.4) A) "Zd{Z{‘©Vr' åhUOo H$m¶? nrQ>a S´>H$a ¶m§Zr {Xboë¶m Zd{Z{‘©Vr g§~§YrÀ¶m {d{dY VÎdm§Mo g{dñVa
dU©Z H$am. [8]

~) ì¶dgm¶mMo H$‘©Mmè¶m§À¶m d emgZmÀ¶màVr Agboë¶m gm‘m{OH$ O~m~Xè¶mMo g{dñVa dU©Z
H$am. [7]


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Q1) A) Fill in the blanks (Attempt any 5 out of 6) [5]

i) The entire marketing management is cantered on the ________
a) Business b) Customers
c) Advertising d) Sales

ii) A business organization’s plan to convert potential customers into
permanent customers is __________
a) Marketing Research
b) Marketing Strategy
c) Sales Management
d) Marketing

iii) X and Y theory was proposed by _________
a) Maslow b) McClelland
c) McGregor d) Herzberg

iv) Demography is a _________ element of marketing planning.
a) Internal b) External
c) National d) International

v) ______ is the first important step in marketing research process.
a) Collection of Statistics
b) Analysis of Statistics
c) Research Report
d) Objectives of the Research

P.T.O.
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vi) ________ means a series of questions to which answers are sought
from different persons.
a) Questionnaire
b) Observation
c) Experiment
d) Survey

B) Match the Following: [5]
Group A Group B

i) Marketing Management a) Public Media

ii) Maslow b) Steps in Marketing Research

iii) Advertising c) Marketing Objectives and its
Scope

iv) Data collection d) Marketing Planning and
Implementation

v) Marketing Planning e) Theory of Needs

Q2) Write a short notes (Any Two) [10]
a) Characteristics of marketing management

b) Scope of consumer behaviour

c) Scope of marketing planning

d) Survey method

Q3) a) Write the characteristics of marketing in India context. [8]
b) What is Consumer Behaviour? Explain the determinants of consumer

behaviour. [7]

Q4) a) Explain the stages of marketing planning. [8]
b) Explain marketing research process in detail. [7]


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(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.
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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) g§nyU© {dnUZ ì¶dñWmnZ ho ............. H|$ÐrVM AgVo.
A) ì¶dgm¶ ~) J«mhH$
H$) Om{hamV S>) {dH«$s

ii) ì¶dgm¶ g§KQ>ZoMr g§̂ mì¶ J«mhH$m§Mo H$m¶‘ñdê$nr J«mhH$ dJm©V énm§Va H$aÊ¶mMr ¶moOZm
åhUOo ............. hmo¶.
A) {dnUZ g§emoYZ ~) {dnUZ ì¶yhaMZm
H$) {dH«$s ì¶dñWmnZ S>) {dnUZ

iii) j d ¶ {gÕm§V ............. ¶m§Zr ‘m§S>bm.
A) ‘°ñbmo ~) ‘°³bob±S>
H$) ‘°J«oJa S>) hP©~J©

iv) bmoH$g§»¶m hm {dnUZ {Z¶moOZmMm ............. KQ>H$ Amho.
A) A§VJ©V ~) ~mø
H$) amï´>r¶ S>) Am§Vaamï´>r¶

v) {dnUZ g§emoYZ àH«$s¶o‘Ü¶o ............. hm n{hbm ‘hËdmMm Q>ßnm Amho.
A) AmH$S>odmarMo g§H$bZ ~) AmH$S>odmarMo {díbofU
H$) g§emoYZ Ahdmb S>) g§emoYZmMr C{Ôï>{ZpÀN>Vr

vi) ............ åhUOo {^Þ-{^Þ ì¶º$s¨H$Sy>Z Á¶m§Mr CÎmao ‘mJ{dbr OmVmV Aem àíZmMr
‘m{bH$m hmo¶.
A) àíZmdbr ~) {ZarjU
H$) à¶moJ S>) gd}jU
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~) OmoS>çm Owidm. [5]

JQ> "A' JQ> "~'

i) {dnUZ ì¶dñWmnZ A) à{gÕr ‘mÜ¶‘

ii) ‘°ñbmo ~) {dnUZ g§emoYZmVrb nm¶ar

iii) Om{hamV H$) {dnUZ C{ÔîQ>ço d Ë¶mMr ì¶mßVr

iv) ‘m{hVr g§H$bZ S>) {dnUZ {Z¶moOZ d A§‘b~OmdUr

v) {dnUZ {Z¶moOZ B) JaOm§Mm {gÕm§V

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) {dnUZ ì¶dñWmnZmMr d¡{eîQ>ço

~) J«mhH$ dV©UwH$sMr ì¶mßVr

H$) {dnUZ {Z¶moOZmMr ì¶mßVr

S>) gd}jU nÕV

à.à.à.à.à.3) A) ^maVmÀ¶m g§X^m©V {dnUZmMr d¡{eîQ>ço {bhm. [8]

~) J«mhH$ dV©UyH$ åhUOo H$m¶? J«mhH$ dV©UwH$sMo {ZUm©¶H$ KQ>H$ ñnï> H$am. [7]

à.à.à.à.à.4) A) {dnUZ {Z¶moOZmÀ¶m nm¶è¶m/Q>ßno ñnï> H$am. [8]

~) {dnUZ g§emoYZ à{H«$¶m g{dñVa ñnï> H$am. [7]


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Q1) A) Fill in the blanks. (attempt any 5 out of 6) [5]

i) Prime Minister Crop Insurance Scheme came into existence in
______.
a) 2016 b) 2010
c) 1985 d) 1995

ii) Who is known as the father of the white revolution in India?
a) Herbert Boyer b) Verghese Kurien
c) M.S. Swaminathan d) Charles Darwin

iii) Important non-food crops of our country are:
a) Tea and coffee b) Millets and pulses
c) Cotton and jute d) None of these

iv) What has been the main dependency of primitive farming?
a) Monsoon
b) Labour
c) Suitability of other environment
d) Technical

v) Seeds are one of _________ agriculture.
a) process b) output
c) input d) labour

vi) Which institution provides long term finance to industries?
a) GIC b) LIC
c) UTI d) All of these

P.T.O.
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B) Match the Following: [5]
A B

i) Theory of Industrial Location a) Schultz

ii) Theories of Agricultural b) Florence

Development

iii) Agricultural c) Cement

iv) Major large-scale industries d) Greps

v) Peri annual Crop e) Primary Sector

Q2) Write a short notes on (any 2 out of  4): [10]
a) Nature of Agricultural Economics.

b) Factor of Production of Agricultural Sector.

c) Scope of Industrial Economics.

d) Cause of Industrial Imbalance.

Q3) a) Explain the Schultz theory of Agricultural Development. [8]
b) Explain the Advantages and Disadvantages of Large Size of Firm. [7]

Q4) a) Explain the nature and scope of Industrial Economics. [8]
b) Explain the Florence’s Theory of Industrial Location. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (ghm n¡H$s H$moUË¶mhr nmM) [5]

i) n§VàYmZ nrH$ {d‘m ¶moOZm ............ amoOr ApñVËdmV Ambr.

A) 2016 ~) 2010

H$) 1985 S>) 1995

ii) ^maVmVrb œoV H«$m§VrMm OZH$ åhUyZ Hw$Umbm AmoiIbo OmVo?

A) h~©Q>© ~m°¶a ~) dJug Hw$[a¶Z

H$) E‘.Eg. ñdm‘rZmWZ S>) Mmëg© S>m{d©Z

iii) Amnë¶m XoemVrb ............ ho ‘hËdmMo {~Ja AÞ {nHo$ AmhoV.

A) Mhm Am{U H$m°’$s ~) ~mOar Am{U H$S>YmÝ¶o

H$) H$mnyg Am{U VmJ S>) ¶mn¡H$s Zmhr

iv) àmMrZ (nma§nm[aH$) eoVr ‘w»¶ Adb§~yZ Amho?

A) nmdgmim ~) H$m‘Jma

H$) BVa n¶m©daU AZwHy$bVm S>) Vm§{ÌH$

v) {~¶mUo H¥$fr .............. EH$ AmhoV.

A) à{H«$¶m ~) CËnmXZ

H$) AmXmZo S>) H$m‘Jma

vi) Imbrb n¡H$s H$moUVr g§ñWm XrK© H$mbrZ nwadR>m H$aVo.

A) OrAm¶gr ~) EbAm¶gr

H$) ¶yQ>rAm¶ S>) darb n¡H$s gd©
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~) OmoS>²¶m Owidm. [5]

"A' "~'

i) Am¡Úmo{JH$ ñWmZ{ZpíM{VMm {gÕm§V A) ewëP

ii) H¥$fr {dH$mgmMm {gÕm§V ~) âbmoaoÝg

iii) eoVr H$) {g‘|Q>

iv) ‘w»¶ AdOS> CÚmoJ S>) D$g

v) ~hþdm{f©H$ {nH$ B) àmW{‘H$ joÌ

à.à.à.à.à.2) {Q>nm {bhm. (Mma n¡H$s H$moUË¶mhr XmoZ) [10]
A) H¥$fr AW©emómMr ñdê$n

~) eoVr joÌmMo CËnmXZ KQ>H$

H$) Am¡Úmo{JH$ AW©emómMr ì¶mßVr

S>) Am¡Úmo{JH$ Ag‘VmobmMr H$maUo

à.à.à.à.à.3) A) ewëPMm H¥$fr {dH$mgmMm {gÕm§V ñnï> H$am. [8]

~) ‘moR²>¶m YmaU joÌmMo ’$m¶Xo Am{U VmoQ>o ñnï> H$am. [7]

à.à.à.à.à.4) A) Am¡Úmo{JH$ AW©emómMr ñdê$n Am{U ì¶mßVr ñnï> H$am. [8]

~) Am¡Úmo{JH$ ñWmZ {ZpíMVrMm âbmoaoÝgMm {gÕm§V ñnï> H$am. [7]


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Q1) Attempt any five of the following. [5×2=10]

a) What is capital?

b) Define Defence expenditure.

c) Write types of budget.

d) What is an economic survey?

e) What is revenue?

f) What is public work?

Q2) Attempt any four of the following. [4×5=20]

a) Military Farms

b) Ex-Servicemen Contributory Health Scheme

c) DPSU

d) Heavy and Medium Vehicles

e) Armoured Vehicles Nigam Limited
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Q3) Attempt any four of the following. [4×5=20]

a) What is Captial Outlay on Defence Services?

b) Write organizational structure of the Ministry of Defence.

c) Explain debate on defence expenditure.

d) Write the role of the DPSUs.

e) Write the departmental structure of the defence.

Q4) Attempt any two of the following. [2×10=20]

a) Explain in detail parlimentary control on Defence.

b) Write the basic concept of planning programming in a budgeting system.

c) Explain the role of political leadership in defence.


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(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PB1310

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) H°${nQ>b åhUOo H$m¶?

~) g§ajU IMm©Mr ì¶m»¶m Úm.

H$) AW©g§H$ënmMo àH$ma {bhm.

S>) Am{W©H$ gd} åhUOo H$m¶?

B) CËnÞ åhUOo H$m¶?

’$) npãbH$ dH©$ åhUOo H$m¶?

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) bîH$ar eoVr

~) ‘mOr g¡{ZH$m§Mr Amamo½¶ godm ¶moOZm

H$) S>r. nr. Eg. ¶w.

S>) hodr Am{U {‘S>r¶‘ do{hH$ëg

B) Ama‘S>© do{hH$b {ZJ‘ {b{‘Q>oS>
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) g§ajU godm§Mo H°${nQ>b n[aì¶¶ åhUOo H$m¶?

~) g§ajU ‘§Ìmb¶mMm g§KQ>ZmË‘H$ AmamIS>m {bhm.

H$) g§ajU AW©g§H$ënmdarb MMm© ñnï> H$am.

S>) S>r nr Eg ¶w Mr ŷ{‘H$m {bhm.

B) g§ajU {d^mJmMm AmamIS>m {bhm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) g§ajUmdarb bmoH$g ôMo {Z¶§ÌU g{dñVa ñnîQ> H$am.

~) g§ajU AW©g§H$ënmMo {Z¶moOZ d àmoJ«m‘Mr ‘yi g§H$ënZm {bhm.

H$) g§ajUmVrb amOH$s¶ ZoV¥ËdmMr ŷ{‘H$m ñnï> H$am.


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Q1) A) Fill in the blanks  (Any 5) [5]
i) Life insurance is an insurance for _______ of human beings.

a) Information

b) Life

c) Help

ii) In the case of life insurance HLV refers to ________

a) Home Legal Value

b) Human Life Value

c) Human Level Value

iii) In which Policy, the insurer agrees to pay the assured or his
nominees a specified sum?

a) Endowment Plans

b) Money Back Plan

c) Unit-linked insurance plan

iv) Government of India implemented crop insurance scheme at
national level from ________

a) 1982

b) 1987

c) 1986

v) In case of Fire and Accident Insurance, Insurable interest must exist
_______
a) At the time of loss only
b) At inception of insurance only
c) Both at inception of insurance and at the time of loss

P.T.O.
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vi) Which of the following is not covered under the ‘contract of
Indemnity’?
a) Fire insurance
b) Theft insurance
c) Life insurance

B) Match the Following: [5]
 Group ‘A’  Group ‘B’

i) Whole Life Insurance a) Developing marketing
Strategies

ii) ULIP b) Demand made by insured to
insurer for loss occurred due
to mishap

iii) Cover note c) Insurance plus investment
iv) Claim d) Coverage throughout the life
v) Premium e) Temporary Documents

f) Payment made by policy
holder

Q2) Short Notes (Any 2) [10]
a) Principle of Risk Pooling
b) Cover Note
c) Procedure of becoming an insurance agent
d) Orgin of General Insurance

Q3) a) Explain the different forms and procedures of taking a Life Insurance
Policy. [8]

b) Explain the procedure of settlement of claim on Death of a policy holder,
in detail. [7]

Q4) a) What are the objectives and features of Insurance Act 1938. [8]
b) Which effects of Globalization on Insurance Sector? [7]


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 236(K) : INSURANCE, TRANSPORT & TOURISM - I
 (2019 Pattern) (Semester - III) (Special Paper-I)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PB1311

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) Am¶w{d©‘m hm ‘mZdr .............. g§~YrMm {d‘m AgVmo.
A) ‘m{hVr
~) OrdZm
H$) ‘XVr

ii) OrdZ {då¶mÀ¶m ~m~VrV "EMEbìhr' åhUOo ............. Amho.
A) KamMo H$m¶Xoera ‘yë¶
~) ‘mZdr OrdZ ‘yë¶
H$) ‘mZdr nmVirMo ‘yë¶

iii) H$moUË¶m {då¶m‘Ü¶o {d‘mYmaH$ Amídm{gV qH$dm Ë¶mÀ¶m dmag ì¶º$s¨Zm {Z{X©ï> a³H$‘
^aÊ¶mg gh‘V AgVmo?
A) h¶mVrVrb {d‘m ¶moOZm
~) a¸$‘ naVrMm {d‘m
H$) ¶w{ZQ>-qb³S> {d‘m ¶moOZm

iv) ^maV gaH$maZo XoenmVirda ............. nmgyZ nrH$ {d‘m ¶moOZm A‘bmV AmUbr.
A) 1982
~) 1987
H$) 1986

v) A{¾e‘Z d AnKmV {d‘m ~m~VrV, {d‘m {hV VÎd ............. AgUo Amdí¶H$ Amho.
A) ’$º$ VmoQ>m Pmë¶mg
~) Ho$di {d‘m gwê$ Pmë¶mda
H$) {d‘m KoVmZm Am{U ZwH$gmZ hmoÊ¶mÀ¶m XmoÝhrdoir
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vi) nwT>rb n¡H$s H$moUVo "ZwH$gmZ ^anmB© H$amam' A§VJ©V Pmbobo Zmhr?
A) A{¾ {d‘m
~) Mmoar {d‘m
H$) OrdZ {d‘m

~) OmoS>çm Owidm [5]

JQ> "A' JQ> "~'

i) g§nyU© OrdZ {d‘m> A) {dnUZ YmoaUo {dH${gV H$aUo

ii) ¶w{bn ~) AnKmVm‘ wi o Pmboë¶m Z wH$gmZrMr
{d‘mYmaH$mZo {d‘m H§$nZrH$S>o ‘mJUr
Ho$br

iii) H$ìha ZmoQ> H$) {d‘m A{YH$ Jw§VdUyH$

iv) Xmdm S>) Am¶wî¶>^a gwa{jVVm

v) {d‘m hßVm B) VmËnwaVr H$mJXnÌ

’$) {d‘m YmaH$mZo Ho$bobo XoUo

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) OmoIr‘ EH$Ì H$aÊ¶mMo VËd

~) H$ìha ZmoQ>

H$) {d‘m à{V{ZYr ~ZÊ¶mMr à{H«$¶m

S>) gm‘mÝ¶ {då¶mMr CËnÎmr

à.à.à.à.à.3) A) OrdZ {d‘m KoÊ¶mMo {d{dY àH$ma Am{U à{H«$¶m ñnï> H$am. [8]

~) {d‘mYmaH$mÀ¶m ‘¥Ë¶yda Xmdm {ZH$mbr H$mT>Ê¶mMr à{H«$¶m Vnerbdma gm§Jm. [7]

à.à.à.à.à.4) A) {d‘m H$m¶Xm 1938 Mr C{Ôï>o Am{U d¡{eîQ>ço H$m¶ AmhoV. [8]

~) OmJ{VH$sH$aUmMm {d‘m joÌmda H$moUVm n[aUm‘ hmoVmo? [7]


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PB1312 [Total No. of Pages : 3
SEAT No. :

Q1) A) Fill in the blanks. (Any Five) [5]
a) Which program is used by user to view the webpage.

i) Web browser ii) Protocol
iii) Web server iv) Search Engine

b) ______ colour represents the certificate is out of date.
i) Red ii) Yellow
iii) Green iv) White

c) ______ is cloud-based video communications  app that allows you
to set up virtual video and audio.
i) Zoom ii) Movie
iii) Video iv) Video on demand

d) <TD> ______ </TD> tag is used for _____.
i) Table heading
ii) Table Records
iii) Table row
iv) Table column

P.T.O.
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e) Home page is the  ______ page that website display.

i) Second ii) First

iii) Last iv) Third

f) Which one of the following is not moodle Resouce.

i) Book ii) File
iii) Folder iv) Source

B) Match the following. [5]
Group A Group B

a) Whatsapp i) Anchor tag

b) Scripting language ii) World Wide Web
c) W W W iii) Social Media

d) NEFT iv) Java Script

e) <a> v) National Electronic Fund Transfer

Q2)  Answer the following questions. [15]
a) Explain different types of websites.
b) Explain Google Classroom.
c) What are the features of HTML.

Q3) Answer the following questions. [15]
a) Explain the details web browser.

b) Give difference between HTML tag & elements.
c) Explain Validation Server Control.

Q4) Answer the following questions. [15]
a) Explain different types of CSS.
b) Explain basic structure of HTML.
c) Explain in detail E - Banking.



3[6224]-317

Q5) Answer the following questions. [15]
a) What are the different application of Internet in various fields.

b) What are the different educational websites.

c) How to insert image in HTML.

Q6)  Write short note on following.( Any Three) [15]

a) Telegram

b) Search Engine

c) Web Serve Control

d) Online Marketing

e) Cyber Ethics





Q1) A) Fill in the Blanks. [5]
i) Update command of SQL is of ______ type.

a) DDL b) DCL
c) DML d) DQL

ii) Collection of related records is called ______
a) Attribute b) Tuple
c) File d) Index

iii) A _________ in a table represents a relationship among a set of
values.
a) Column b) Key
c) Row d) Entry

iv) The term attribute refers to a _____________ of a table.
a) Record b) Column
c) Tuple d) Key

v) Record is collection of _____________
a) Records b) Fields
c) Table d) Relation

B) Match the following. [5]
Column A  Column B
a) Table i) Retrieve data from database
b) Query ii) Collection of related data
c) Insert iii) Deletes record from a table
d) Update iv) Adds records in a table
e) Drop Table v) Edits records from a table

Total No. of Questions : 4]

[Total No. of Pages : 2
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Q2) Write Short Notes on (Any 2): [10]

a) ERD

b) Networking Database Model

c) Alter table Command

Q3) Answer the following (Any 4): [20]

a) Explain the benefits of Database in business.

b) Explain Data Dictionary in detail.

c) What is DML? Explain in detail.

d) Explain aggregate functions with syntax and example.

e) Explain any five data types in SQL.

Q4) Answer the following (Any 1): [10]

a) What is Primary key and Foreign Key? Explain difference between both.

b) What is the difference between DBMS and RDBMS.





Q1) A) Fill in the Blanks. [5]
i) A “Target Group” means _______.

a) A group of seller
b) A group of buyers
c) A group of products
d) A group of persons to whom sales should be focused

ii) Advantage of television advertising includes.
a) Costly
b) Wide rich
c) Not flexible
d) Repetations are monotonus

iii) The second phase in media plan is __________.
a) Establishment of media objective
b) Market analysis
c) Evaluation and follow-up
d) None of the above

iv) Advertising is an important source of revenue to ________.
a) Advertisers
b) Public
c) Government
d) Media

Total No. of Questions : 4]

[Total No. of Pages : 2

[6224]-319
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v) Evaluation of advertising effectiveness may aim at evaluating.
a) Sales effect of advertising
b) Purchase effect of advertising
c) Psycological effect of advertising
d) None of the above

B) Match the following. [5]
A  B

a) Monsoon Sale i) Print Media
b) Memory test, recall test ii) Point of sale
c) Space is sold for this media iii) Eye-camera test
d) Display in retail outlet iv) Technique of sales promotion
e) It measures viewing behavior v) Post-testing method of audience

Q2) Short Notes on (Any 2): [10]
a) Factors influencing future of advertising.
b) Components of media plan
c) Advertising planning.
d) Difficulties in measuring advertising effectiveness.

Q3) Answer the following questions (Any 4): [20]
a) Explain need of advertising research.
b) Explain role of advertising in promotion mix.
c) What do you mean by media planning?
d) Write advantages of electronic media.
e) Write a note on target market and target audience.
f) Post-testing methods of measuring ad-effectiveness.

Q4) Answer the following (Any 1): [10]
a) Write in detail the ‘Working of ad-agency.

b) Explain post testing methods of measuring ad-effectiveness.





Q1) A) Choose appropriate answer (Any Five) : [5]

i) Deduction under section 8OTTA is allowed for _______.

a) Medical Insurance Premium

b) Interest on Saving Bank Account

c) LIC Premium

d) Interest on Sukanya Samrudhi Account

ii) Deduction on Interest on loan taken for educational purpose fall
under section _______.

a) 80CCD b) 80C

c) 80E d) 80DD

iii) CII stands for ___________

a) Cost Inflation Index b) Cost Investment Index

c) Capital Inflation Index d) Capital Investment Index

iv) A Short-term capital asset means a capital asset held by the assessee
for less than______ months immediately preceding the month of
its transfer.

a) 40 b) 30

c) 36 d) 46

Total No. of Questions : 4]

[Total No. of Pages : 4
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v) Deemed Dividend received from foreign company is _______.

a) Partly Taxable b) Fully Taxable

c) Fully Exempt d) Not treated as Income

vi) Section 80C provides deduction in respect of Tuition fees for
maximum _______ children.

a) One b) Two

c) Three d) Four

B) State whether the following statements is True or False (any five)
[5]

i) Deduction U/s. 80G is allowed in respect income from interest on
Government Securities.

ii) Deduction for the investment in Sukanya Samrudhi Saving Account
Scheme is availed under section 80C.

iii) Sale of Business Asset is taxable under the head income from
business.

iv) Income of a minor is clubbed to Father’s income or mother’s income
whichever is lower.

v) 24 Months is the holding period for Immovable Property to consider
it as long-term Capital Asset.

vi) Interest on fixed deposit is an example of income not admisible
while calculating income from business.

Q2) Write Short Notes (Any Two) : [10]

a) Short Term Capital Gain

b) Inadmissible Expenses

c) Clubbing of Income of a minor

d) Deduction for Donation (Section 80G)
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Q3) Solve the following question [15]

Following is the Profit & Loss A/c for the Business of Ms. Ravi Teja, Pune
for the financial year ending on 3 1.3.2024.

Profit & Loss A/c

Particulars Rs. Particulars Rs.

To Salary & Wages 1,35,000 By Gross Profit 4,85,000

To Interest on loan 51,500 By Bad-Debts Recovered 6,250

To Office Exp. 16,000 (earlier allowed as deduction)

To Advertisement 16,500 By Sundry Receipts 8,750

To Telephone Exp. 2,000 By Profit on sale of asset 20,000

To Insurance 15,000

To Wealth Tax 5,000

To R.D.D. 6,000

To Income Tax 8,200

To Depreciation 20,000

To Net Profit 2,44,800

5,20,000 5,20,000

Additional Information :

a) Salary & wages includes Rs.12,500 paid for domestic purpose.

b) 50% Bank loan is taken for Business purpose.

c) Depreciation allowed as per Income Tax Rule is Rs.16,200.

d) Advertisement includes Rs.2,500 as expenses for selling household
furniture.

You are required to compute Taxable Income from Business under old Regime.
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Q4) Solve the following question [15]

Mr. Sachin has given the following particulars of his incomes and savings for
the financial year ending on 31.3.2024.

- Gross Salary Rs.8,80,000

- Interest on Govt. Securities Rs.36,000

- Interest on Saving A/c Rs,20,000

- Interest on Fixed Deposits with SBI. Rs.13,000

- He paid Profession Tax Rs.2,500

Mr. Sachin made the following investments during the year.

- LIC premium Rs.90,000

- Investment in NSC Rs.52,000

- Mediclaim Insurance Premium Rs.25,600

- Interest on Education Loan. Rs.60,000.

Compute his Taxable Income in old and New Regime.





Q1) A) Fill in the Blanks : [5]
i) Which of the following is not a phase of the SDLC (Software

Development Life Cycle)
a) Implementation b) Planning
c) Review d) Analysis

ii) What is the use of Data Flow Diagram.
a) To depict the system inputs and outputs
b) To illustrate the system architecture
c) To illustrate the system processes
d) To depict the system data and relationships

iii) ____________ is simply a way to communicate specifications to
programmers.
a) Program b) Coding
c) Structured English d) Code

iv) The methods used by analyst for collecting data about requirement
is called_________.
a) Structured Data Collection
b) Fact Finding Technique
c) Data Collection Technique
d) Data Gathering Method
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v) The Data flow diagram (DFD) shows.
a) The flow of data
b) The processes
c) The areas where they are stored
d) All of the above

B) State whether the following statements are True or False. [5]
i) A systems development methodology is a formal approach to the

system development process that defines a set of activities and
methods for a system.

ii) Flow of information in an organization is always vertical.
iii) Interface is the element of a system.
iv) Decision Tree consists of four parts.
v) In white box testing code is checked.

Q2) Solve the following questions any Four (out of Five): [20]
a) What is Data flow diagram? Explain in brief.
b) Explain briefly system security.
c) What is software engineering?
d) Explain briefly Input Design.
e) What is role of system analyst?

Q3) Solve the following questions any Two (out of Three): [20]
a) Explain E-R Diagram in detail.
b) Write a note on Spiral Model.
c) Explain in detail General Model of a System.





Q1) A) Fill in the Blanks. [5]

i) It is the blend of all marketing efforts.

a) Sales budget b) Marketing Mix

c) product development d)  Branding

ii) Good health is ________ quality of salesman.

a) Easy b) Character

c) Mental d) Physical

iii) It creates relation between customer and company.

a) Personal selling b) digital marketing

c) Marketing d) Prospecting

iv) When customers are divided as per their age and gender it is ______
Segmentation

a) Geographic b) Selling motives

c) Demographic d) Simple

v) When customers are divided as per product features it is called
as______.

a) Benefit b) Volume

c) Demographic d) Geographic
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B) Match the pair. [5]
a) Geographical i) Tea Brand
b) Loyalty ii) Market segmentation
c) Pioneer iii) Quality of salesman
d) Suggestions to customers iv) Type of salesperson
e) WaghBakari v) Duty of salesperson

Q2) Write short note on (any 2): [10]

a) Place Mix

b) Advantages of personal selling

c) Meaning and concept of Market segmentation

d) Promotion MiX

Q3) Answer the following (any 4): [20]

a) Product Mix

b) Objectives of personal selling

c) Basis of market segmentation

d) Product classification

e) Branding

f) Disadvantages of personal selling

Q4) Answer the following (any 1): [10]

a) State and explain qualities of successful salesman

b) State and explain various types of sales persons





Total No. of Questions : 4]

[6224]-323
S.Y. B.Com. (Vocational)

 TAX PROCEDURE & PRACTICES - II
236C : Goods & Services Tax and Profession Tax

 (2019 Pattern) (Semester - III)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.

PB1318 [Total No. of Pages : 2

SEAT No. :

Q1) A) Choose appropriate answer. (Any Five) [5]
a) GST was introduced in India with effect from _________

i) 1st June 2017 ii) 1st June 2018
iii) 1st July 2017 iv) 1st  April 2017

b) What are the factors differentiating composite supply & mixed
supply?
i) Nature of bundling ii) Existence of principal supply
iii) Both (i & ii) iv) Rates of Supply

c) In case of composite supply, the tax rate is applicable on ________.
i) Principal supply ii) Respective supply
iii) Ancillary supply iv) Respective +  Ancillary Supplies

d) Every enrolled person shall pay the profession tax within the period
of _______ from the date of enrolment in the first year.
i) One Month ii) Two Months
iii) Three Months iv) Six Months

e) Every registered employer shall furnish a return in _______ under
Profession Tax.
i) Form I-B ii) Form II-B
iii) Form III-B iv) Form III-C

f) The payment of profession tax should be made in Challan Form No
_________, before uploading the return.
i) MTR-2 ii) MTR-7
iii) MTR-6 iv) MTR-6C

P.T.O.
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B) State whether the following statement is TRUE or FALSE. [5]
a) GST has subsumed the central excise duty.
b) Services Imported by SEZ units for authorized operations are

exempt from IGST.
c) Supply of services having place of supply in Nepal, against

payment in Indian Rupees, is taxable under GST.
d) Armed force members are not exempt from payment of profession

tax.
e) Supplies made with or without consideration are covered under the

scope  of supply.

Q2) Write a short Notes. (Any Two) [10]
a) Levy of profession tax
b) Aggregate turnover under GST
c) Time of supply in case of mixed supplies
d) Value of token or voucher

Q3) Answer the following questions. (Any Four) [20]
a) Who is Pure Agent?
b) Whether a supplier of services is eligible to pay tax under the

composition scheme? Explain.
c) What are the rules for switching over from composition Scheme?
d) What are the provisions of Registration under profession tax and tax on

employees?
e) What is the threshold limit for opting for a composition scheme?
f) What will be the time of supply of goods, in case of forward charge?

Q4) Answer any one of the following questions. [10]
a) Which are the benefits of availing Composition Scheme?
b) What will be the value of the supply of a person dealing in second-hand

goods?


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Q1) Attempt any five of the following :

a) What are the natural resources? [1]

b) What is Ex-situ conservation of biodiversity? [1]

c) Define the term-ecological succession? [1]

d) What is desertification. [1]

e) Define the term-Ecosystem [1]

f) What is species diversity. [1]

Q2) Answer the following :

a) Describe forest ecosystem and its components. [6]

b) What are the causes and impacts of land degradation. [4]

Q3) Answer the following :

a) Illustrate Indian as a mega biodiversity nation? [6]

b) Explain significance of alternate energy resources? [4]

P.T.O.
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Q4) Answer the following :

a) Describe energy flow in an ecosystem? [6]

b) Explain the threats to biodiversity? [4]

Q5) Write a short note on any four of the following : [10]

a) Hot spots of biodivesity [2½]

b) Sustainable development [2½]

c) Desert ecosystem [2½]

d) Renewable energy resources. [2½]

e) Poaching of wild life [2½]

f) Significance of biodiversity [2½]


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gyMZm …- 1) àíZ H«$‘m§H$ 1 A{Zdm¶© Amho.
2) àíZ H«$. 2 Vo 5 ¶m‘YyZ H$moUVohr VrZ àíZ gmoS>dm.
3) àíZ H«$. 2 Vo 5 g‘mZ JwU AmhoV.

PB1319

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm.

A) Z¡g{J©H$ g§gmYZo åhUOo H$m¶? [1]

~) Z¡g{J©H$ A{YdmgmÀ¶m ~mhoaMo O¡d{d{dYVm g§dY©Z åhUOo H$m¶? [1]

H$) n[apñWVr¶ AZwH«$‘U (g³goeZ) Mr ì¶m»¶m {bhm. [1]

S>) dmid§Q>rH$aU åhUOo H$m¶? [1]

B) n[ag§ñWm ¶m eãXmMr ì¶m»¶m {bhm. [1]

’$) àOmVr¶ O¡d{d{dYVm åhUOo H$m¶? [1]

à.à.à.à.à.2) Imbrb àíZ gmoS>dm.

A) dZ n[ag§ñWm Am{U Ë¶mMo KQ>H$ ¶m§Mo dU©Z H$ê$Z {bhm. [6]

~) O{‘ZrÀ¶m èhmgmMr H$maUo Am{U n[aUm‘ {bhm. [4]

à.à.à.à.à.3) Imbrb àíZ gmoS>dm.

A) ^maV hm O¡d{d{dYVm g‘¥Õ Xoe Amho ho {dfX H$am. [6]

~) n¶m©¶r COm© g§gmYZm§Mo ’$m¶Xo {dfX H$ê$Z {bhm. [4]
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à.à.à.à.à.4) Imbrb àíZ gmoS>dm.

A) n[ag§ñWoVrb COm© àdmh dU©Z H$ê$Z {bhm. [6]

~) O¡d{d{dYVoÀ¶m èhmgmMr H$maUo {bhm. [4]

à.à.à.à.à.5) {Q>nm {bhm. (H$moUVohr Mma) [10]

A) O¡d{d{dYVoMr g§doXZj‘ joÌo [2½]

~) emídV {dH$mg [2½]

H$) dmid§Q> n[ag§ñWm [2½]

S>) Aj¶ COm© g§gmYZo [2½]

B) dÝ¶Ordm§Mr {eH$ma [2½]

’$) O¡d{d{dYVoMo ’$m¶Xo [2½]




	6224-301 (PB-1298)
	6224-302 PB-4380 E
	6224-303 PB-1299
	6224-304 (PB-4514)
	6224-305 (PB-1300)
	6224-306 (PB-1301)
	6224-307 (PB-1302)
	6224-308 (PB-1303)
	6224-309 (PB-1304)
	6224-310 (PB-1305)
	6224-311 (PB-1306]
	6224-312 (PB-1307)
	6224-313 (PB-1308)
	6224-314 (PB-1309)
	6224-315 (PB-1310)
	6224-316 (PB-1311)
	6224-317 (PB-1312]
	6224-318 PB-1313
	6224-319 PB-1314
	6224-320 PB-1315
	6224-321 PB-1316
	6224-322 PB-1317
	6224-323 (PB-1318)
	6224-324 (PB-1319)

